Numerical/Analytical Problems:

mem. ignore the time value of money!) A company is making plans for
n—story building. The foundation cost, $320,000, is independent of n. The
g costs will depend on the number of floors, n, indicated by;

TVCIn) = 10.000n: + 60,000n

The price that can be charged for each floor depends on the market demand in the
following way;

P = -8,000n+420,000

maini

Additionally, with each floor built, the company will gain expertise that it can use in the
following projects. This is worth $72,000 to the company for each floor it constructs.

/\ a) (5 points) How many fioors should there be in the building? (What is optimal n?)
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+s) Suppose that there are two firms, A and B, each introducing a new product to
:. They will simuitaneously decide on whether to charge a high(H), a medium(M),
L) price for their new product, without knowing what the other will charge. The
on summarized in the following table is common knowledge:

U4 8) TURN Firm Choose Reswlf

\. L g
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16,40 40,28 36,20

18,10 38,50 20.20
10,10 10,30

For example, if A charges a high price and B charges a medium price, A gets 40

gets 28. Given the above payoff structure, under which outcome no firm has any

{o deviate? ;
Fun. Choose Reswlt Fnrm

A -
lb, 4o

B
F % : 18,19
B f 2§50 -
A 40,28
B




5. (8 points) You started a company five years ago by taking a loan of $100,000, The APR
on the loan is 12%. You agreed to make fixed payments every month for 10 years. Today,
your 60" payment is due and you decided to make a double payment. (You paid twice
what you were paying each month). You will continue to make single payments to pay the

rest of the loan. By how many months your loan term shortened? (According to the
contract you signed with the bank, you can make dou ments, your APH stays the
same, your fixed monthly payments do not change, therefore, your loan term shortens.)
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7. (For this question, ignore time value of monayl) A perfectly competitive firm rented two

production facilities, A and B3, at a total cost of $400, The facilities differ in their productivity
levels represented by their respective Total Variable Cont functions,

VG, = 10(Qy) + 6Q,
TVCs = 12(Qg)* + 4Qq

a) (5 points) If the price Is $100 per Q, what I8 the profit maximizing level of

production? How much of It should be produced In facility A and how much of it
should be produced In facllity B?
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Multiple Choice Questions (4 points each):




In economics terms, short run refers to

A. the period during which all raw material going into the production is depleted,
B. the period during which fixed costs cannot be changed. v
C. the period during which variable costs cannot be changed. *

D. the period during which obtaining positive economic profit is not possible.*
E. None of the above.

Which of the following is least likely to be a reason for firms to be willing to get
bigger?

A. managers’ willingness to control bigger firms ¥

B. benefiting from economies of scale v

C. to have more control over the price V'

D. eliminate competition and increase revenue Vv

E. to keep the average variable cost lower than average fixed cost

6. Which of the following statements is 'cp_r@fabo stam
following graph? i :
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Current Event Questions (4 points each):

The following questions are drawn from the class discussions on current events, Please

give a short answer for each (2 to 3 sentences) within the context they were discussed in
class.

1. Major oil producers of the world are finding themselves in a challenging marketplace due
to increasing production via fracking and horizontal drilling undertaken by relatively smaller
companies. Oil supply has been increasing leading to a price decline in the market. (per
barrel oil fell from $105/barrel to as low as $40/barrel in less than a year.)

‘Why would a declining price be strategically beneficial to major oil producers? :
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2. Google faces antutrﬁﬁquines in Europe where it holds 92% of th
market. Why are European authorities golng after Google?




4. Whatsapp, which is recently acquired by Facebook for $22 bilion, is an instant
./ messaging app for smartphones. Other than eliminating a potential competitor, what did
Vv Facebook get by purchasing Whatsapp?
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5. Suppose a company pfoduces two products, A and B, and sells them by bundling. That
is, company sets a price for the pair and sells A and B as a pair. What does the company

achieve by bundling? Why not sell each product separately? A
Comg (OnSwmaers have "4

product A, and Sore others have

B




